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L 6sen mit Klammern Name:
L 6se jede Aufgabe. Antworten
D) (12:4)+3=
1
2) (5+6)-15= 2
3.
3) (3+7)+9=
4,
4) (2+10):8=
EE— 5.
5) (42:7)-3 = 6.
7.
6) (43+29):9=
8.
7) (24-8)-8= o
8 10+ (15-5) = 10,
11.
9 2+(4+9) =
12.
10) (4+3)+10=
( ) 13.
11) 8+(2-1) = 14,
15.
12) 6+7)-7=
13) (8 . 2) 3=
14) (33-13):4=
15) (48:6) +10 =
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Losen mit Klammern

L dsungsschltissel

L 0se jede Aufgabe.

D (12:4.3= 9
2 (5+6)-156=_ 15
3 B+7+9= 19
4 (2¢10):8=_ 2r4
5 (42:7)-3=_ 3
6 (43+29):9= 8
) (24-8)-8= 8

8 10+ (15-5 = 20

(3)+3

(30) - 15

(10) +9

(20): 8

(6) - 3

(72): 9

(16)- 8

10 + (10)

9 2+(4+9) = 38 2+(36)

10) (4+3)«10=_ 70
1) 8e(2-1)= 8
12) 6+7)-7= 6
13) (802)-3:4—8
14) (33-13):4= 5

15) (48:6)+10= 18

(7)+ 10

8+ (1)

(13) - 7

(16) 3

(20) : 4

(8) + 10

Antworten

1 9

2. 15
3, 19
4 214
5 3

6 8

7 8

8 20
9 38
10, /0
11, 8
12 6
13 48
14, )
15, 18

[ Mathe ] www.CommonCoreSheets.de

80|73]67]60(53]|47|40]33]




JL_

Losen mit Klammern

Name:

L 0se jede Aufgabe.

70 20 8 9
18 15 38 19
5 3 48 8

2r4

) (12:4)+3=

2) (5+6)-15=

3 (3+7)+9=

4) (2+10):8=

5 (42:7)-3=

6) (43+29):9=

) (24-8)-8=

8 10+ (15-5) =

9 2+ (4.9 =

10) (4+3)+10=

11) 8¢(2-1) =

12) 6+7)-7=

13) (8+2)+3=

14) (33-13):4=

15) (48:6)+10 =

10.

11

12.

13.

14.

15.

Antworten

1-10

Geandert
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